Get out your homework and have it ready to check. We will have a
target check on Tuesday over finding missing angles. Warm on #2
from your homework from last night!

Classwork - Finding Missing Angles

1) Write and solve an equation to find the value of x. Find the measurements of the missing angles using x.
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F) Name the angle that is vertical angles with £ABC.
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k) Find the value of x and n.
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1) Write and solve an equation to find the value of x. Find the measurements of the missing angles using x.
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Complementary Angles - angles that add to 9(¢ Supplementary Angles — angles that add to 180°
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2) Write and sclve an equation to find the value of x. Then find the missing angle(s).
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Intersecting Lines
When two lines intersect, they form two pairs of opposite angles that are congruent (equal).

£1 and £3 are vertical angles with one another. This means that thev
are congruent and have the same angle measurement.

£2 and £4 are vertical angles with one another. This means that thev
are congruent and have the same angle measurement.
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B) £1and £2 form a E‘h’ h_,_ﬂk’f line. What angle relationship is shown between £1 and £27
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C) This means that 21 4+ £2 = l degrees. Determine the angle meaﬂm:mmt of £2.
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3)Find the angle measurement of each angle using the information vou are given.
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Vertical Angles
Vertical angles are congruent to one another, which means that their angle measures, or the expressions that

represent the angle, are g% “—H.!, to one another,

4)Write and solve an equation to find the value of x. Then find the measurements of the missing angles.
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